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2w = 6 5k = -2 + 7k
50 58
3x = 12 2X + 4 = 20
51 59
-4z = -16 3a - 12 = 18
52 60
-z = -1 3-8 = 24x
53 61
Z = 1+5 4d + 8 = 32
54 62
9a = 3a + 6 2C+ 3 =c + 5
55 63
3b + 4= 5b 4a - 2 = 18
56 64
5¢c = 25 %z -1
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o4 * L

2 37
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-W = —6 -a = 3
40 48

-b =5 -c = 6
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31 - 6

51 - 6

-21 + 41= 6

261 - 131




2c - 7 = -3

2p - 6 =10

10

-W - 5w = -12 21 - 61 = -12
11
q-5=-3 /9 - 2q = 15
12
3e - e =8 71 - 121 = -25
13
w — 8w = 3 31 - 61 =6
14
2W - 5w = 9 i - 61 = 25
15
W - 5w = 16 4i - 61 = -8

W - 5w -24
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47 - 61 = -12




Start

s1
3(x+7) = 4(2x-1)

S2
9(y-5) = 4y-10

S3
3(6v+4) = 9(2v-3)

S4
8(3+2z)-3z = 5z-8

S5
5(y-0,2) = 1,6(3y+0,5)

S6
4(9w-11) -12(3w-4) = 4

>7 3y+5 2y

S8

> 4x+30 2:5 >0 3y+4  4y-6
6 4 4 5
S11 S12
4z+1 E:E.+.E y+2 y-1  2y+3
6 2 3 3 15 5
$13 S14

2Xx(x-3) = x(2x+4)-80

515
(z-2) (z+3) = Zz°+6

S16
(5z-4)% = (5z+4)°-80z







